
  

𝜕𝑓

𝜕𝑟
=

𝜕𝑓

𝜕𝑥
∙

𝜕𝑥

𝜕𝑟
+

𝜕𝑓

𝜕𝑦
∙

𝜕𝑦

𝜕𝑟
= 𝑓𝑥 ∙ cos 𝜃 + 𝑓𝑦 ∙ sin 𝜃    =>     𝑓𝑥 =

1

cos 𝜃
[
𝜕𝑤

𝜕𝑟
− 𝑓𝑦 ∙ sin 𝜃]   

𝜕𝑓

𝜕𝜃
=

𝜕𝑓

𝜕𝑥
∙

𝜕𝑥

𝜕𝜃
+

𝜕𝑓

𝜕𝑦
∙

𝜕𝑦

𝜕𝜃
= −𝑓𝑥 ∙ 𝑟 sin 𝜃 + 𝑓𝑦 ∙ 𝑟 cos 𝜃 

 

𝜕𝑤

𝜕𝜃
=

1

cos 𝜃
[𝑓𝑦 ∙ sin 𝜃 −

𝜕𝑤

𝜕𝑟
] ∙ 𝑟 sin 𝜃 + 𝑓𝑦 ∙ 𝑟 cos 𝜃 

𝜕𝑤

𝜕𝜃
= 𝑟 tan 𝜃 [𝑓𝑦 ∙ sin 𝜃 −

𝜕𝑤

𝜕𝑟
] + 𝑓𝑦 ∙ 𝑟 cos 𝜃 

𝜕𝑤

𝜕𝜃
= 𝑓𝑦 ∙ 𝑟 sin 𝜃 tan 𝜃 −

𝜕𝑤

𝜕𝑟
𝑟 tan 𝜃 + 𝑓𝑦 ∙ 𝑟 cos 𝜃 

𝜕𝑤

𝜕𝜃
+

𝜕𝑤

𝜕𝑟
𝑟 tan 𝜃 = 𝑓𝑦𝑟[sin 𝜃 tan 𝜃 + cos 𝜃] 

1

𝑟

𝜕𝑤

𝜕𝜃
+

𝜕𝑤

𝜕𝑟
tan 𝜃 = 𝑓𝑦[sin 𝜃 tan 𝜃 + cos 𝜃]    /∙ cos 𝜃 

cos 𝜃

𝑟

𝜕𝑤

𝜕𝜃
+

𝜕𝑤

𝜕𝑟
sin 𝜃 = 𝑓𝑦[sin 𝜃 sin 𝜃 + cos 𝜃 cos 𝜃] 

𝑓𝑦 =
cos 𝜃

𝑟

𝜕𝑤

𝜕𝜃
+

𝜕𝑤

𝜕𝑟
sin 𝜃 

 

 


